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5cm 50cm 100cm
DEhith &R (4 RN EHE) — 0.06 — PA-1000
1/12() £Y @75>aTF — 0.05 — PA-1000
@RI #ER — 0.07 — PA-1000
DEhith il ER (4 A NEHE) — 0.05 — PA-1000
7/2(R)EN @75>aF — 0.05 — PA-1000
QAT T HER — 0.06 — PA-1000
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. ) AEE (1A —R)LAEE)
HIE B - K& I TE Hh B HAITE 25 e
5cm 50¢cm 100cm
OBt ER (4 RS — 0.05 — PA-1000
1/10(2)Eh @75>aTF — 0.05 — PA-1000
@RT T HERK — 0.06 — PA-1000
Dt rhILER (4 A M) — 0.05 — PA-1000
7/30K) £Y @75>aF — 0.05 — PA-1000
@RI HER — 0.06 — PA-1000
2/9 (B7)



FAEZEEARICE TOMAHHRE R ERER

FrEdh : §1276-32
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AIE B - Xf& I TE Hh 2 BIERR -
5cm 50c¢m 100cm
it ol ED (5 RS EHEE) — 0.06 — PA-1000
1/790K)Bh @752aF — 0.05 — PA-1000
@RT) T B — 0.06 — PA-1000
gt o ilER (4 R %) — 0.04 — PA-1000
7710 EEN @75>aF — 0.05 — PA-1000
@RTI T B/ — 0.05 — PA-1000
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BIEME (XA —N)LER)
HBIE B - X B #h = HBITE 25 e
5cm 50cm 100c¢m
OB AR (2 R MELE) — 0.05 — PA-1000
179 (U BN @73>aF — 0.06 — PA-1000
@RI E — 0.07 — PA-1000
gt ol ER (4 R E%E) — 0.05 — PA-1000
7/6(K)Eh @I5>aF — 0.05 — PA-1000
@RI HE R — 0.08 — PA-1000
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5cm 50c¢m 100cm
it ol ER (5 R EHEE) — 0.06 — PA-1000
1/10(Q) e @752aF — 0.07 — PA-1000
@RT) T B — 0.08 — PA-1000
B LR (2 R MEEEE) — 0.06 — PA-1000
7/5CK) BN @73>aF — 0.06 — PA-1000
@RI H#E — 0.09 — PA-1000
FERR214EFE
BIEE (R4 —~)LNEE)
HBIZE B - Xz I TE Hh = BIERR e
5cm 50c¢m 100¢cm
gt ol ER (4 R E%E) — 0.07 — PA-1000
1 /fgf)gﬂgh @I75>aTF — 0.07 — PA-1000
@RTL T B — 0.09 — PA-1000
B IR (2 R MELE) — 0.06 — PA-1000
7/10(&) Eh @73>aF — 0.07 — PA-1000
@RT) 2 E — 0.09 — PA-1000
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Dt ER (X R MEHLE) — 0.07 — PA-1000
1/6 (K)EY @73>aF — 0.07 — PA-1000
@RTITHERK — 0.10 — PA-1000
Dt ER (X R MEHLE) — 0.08 — PA-1000
10/7(K) BBh @73>aF — 0.09 — PA-1000
@RT) T B ER; — 0.11 — PA-1000
OB oL ER (& R NEZE) — 0.07 — PA-1000
7/3(R)ENL @73>aF — 0.08 — PA-1000
@RF) VT B ER; — 0.09 — PA-1000
OB oL ER (& R NE%E) — 0.08 — PA-1000
48(K) HEHQ @75>aF — 0.08 — PA-1000
Q@RF) T B ER; — 0.10 — PA-1000
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o, 7(%) Bh @75>aF — 0.08 — PA-1000
@RI T HE R — 0.11 — PA-1000
OFih Bl ER (& R MfZE) — 0.10 — PA-1000
12/5(K) Bh @75>aF — 0.09 — PA-1000
@RTIL T HER — 0.11 — PA-1000
OEih Bl ER (4 R MfiZE) — 0.07 — PA-1000
10.78(k) BN @75>aF — 0.07 — PA-1000
@RTL T HER — 0.08 — PA-1000
Oghth Bl EB (F R ML) — 0.08 — PA-1000
@75>aF — 0.09 — PA-1000
8.70K) Eh @x?"uy’j‘iﬁﬂﬂi’n — 0.11 — PA-1000 ‘ _
AEYEEH — o1 — PA-1000 EGRFHIE (REFRIFH D ATGEIE 5 % S5 )
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O~ F — 011 — PA-1000 ”
Oghth il EB (X R MEHEE) — 0.09 — PA-1000
6/6(K) =Y @75>aF — 0.09 — PA-1000
@RI T W E R — 0.12 — PA-1000
OEhth il ER (2 RNEEEE) — 0.09 — PA-1000
4170k) £Y @75>aF — 0.08 — PA-1000
@RIV THER — 0.11 — PA-1000
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OFih Bl ER (& R MfZE) — 0.10 — PA-1000
3.6(K) Eh @75>aF — 0.10 — PA-1000
QRTIV T HER — 0. 11 — PA-1000
Dt i ED (X A MERZE) — 0. 09 — PA-1000
2/7(K) Bh @J5>aTF — 0. 07 — PA-1000
@RTL T HER — 0.12 — PA-1000
) OEith dh il ER (& R MEf%E) — 0. 09 — PA-1000
$m5¢$ @75>aF — 0.10 — PA-1000

1.710(K) Eh
®RFT) T #E — 0.12 — PA-1000
OEih Bl ER (4 R MfiZE) — 0. 10 — PA-1000
12/6(K) EHh @75>aF — 0. 09 — PA-1000
@RTL T HER — 0. 10 — PA-1000
Dt i ED (X R MEREE) — 0. 11 — PA-1000
11.79(&) Bh @735 aF — 0.10 — PA-1000
@RI T HE R — 0.12 — PA-1000
OEih Bl ER (4 R MEfiZE) — 0. 09 — PA-1000
1074(K) HEn @735 aF — 0.10 — PA-1000
@RTLTHER — 0.12 — PA-1000
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Dt i ED (X A MERZE) — 0. 10 — PA-1000

9/6(K) Eh @J5>aTF — 0.10 — PA-1000
@RI T HE R — 0.13 — PA-1000

OFih Bl ER (& R MfZE) — 0. 11 — PA-1000

86(A) &Y @75>aF — 0.12 — PA-1000
@RT T HE — 0. 11 — PA-1000

OEih Bl ER (4 R MfiZE) — 0. 11 — PA-1000

775(K) Bh @75>aF — 0. 11 — PA-1000
@RTL T HER — 0.13 — PA-1000

OEih dh il ER (& R MEf%E) — 0.12 — PA-1000

611(A) Bh @75>aF — 0. 11 — PA-1000
@RI T HE R — 0.13 — PA-1000

OEih Bl ER (4 R MEfiZE) — 0. 11 — PA-1000

5/10(K) Bh @735 aF — 0.12 — PA-1000
@RTLTHER — 0. 14 — PA-1000

Dt i ED (X R MERZE) — 0.13 — PA-1000

416(R) Bh @J5>aTF — 0.12 — PA-1000
@RI T W E R — 0.15 — PA-1000
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HlE B - Xz BIE Hh = o Py oo BIERR -k
OFih Bl ER (& R MEfZE) — 0.13 — PA-1000
3/13(K) Bh @75>aF — 0. 11 — PA-1000
@RI #E R — 0.15 — PA-1000
Dt i ER (X A MERZE) — 0.12 0.12 PA-1000
2/73(&) Bh @75>aF — 0.13 — PA-1000
@RTL T HER — 0. 14 — PA-1000
) OFith dh il ER (4 R MEf%E) — 0.15 0.14 PA-1000
K245 =<
113(8) Bh @75>aF — 0.14 — PA-1000
@RT T #E — 0.16 — PA-1000
12 8(K) BY Bth AR (2 R NERER) — 0. 14 0.14 PA-1000
A O BRkE A A — 0. 23 — PA-1000
11.710(K) FY | BtthehiEp (X AMELE) — 0. 16 0. 14 PA-1000
Bt ARl BB (2 R NEREE) — 0.16 0. 16 PA-1000
10725(CK) BEN oK Ht — 0.16 — PA-1000
HE A A —_ 0.17 — PA-1000
T f 234 Sk — 0.17 — PA-1000
9./13(K) HEh 1R A _ 0.18 — PA-1000
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